### RESOLUTION NO. 19-02 CITY OF CENTERVILLE, OHIO

SPONSORE	D BY COUNC	ILMEMBER Swan	W. Linesch	ON THE	15th
DAY OF	April	, 2002.			

A RESOLUTION ACCEPTING THE BID SUBMITTED BY THE SHELLY COMPANY FOR THE 2002 CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT IN THE CITY OF CENTERVILLE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the 2002 Concrete Repair and Asphalt Resurfacing Road Improvement Project in the City of Centerville according to specifications prepared by the City, and

WHEREAS, the Shelly Company was the low and best bidder.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the bid submitted by the Shelly Company for the 2002 Concrete Repair and Asphalt Resurfacing Road Improvement Project, marked as exhibit "A" attached hereto and made a part hereof be and is hereby accepted in the amount of \$737,982.40 and the City Manager is hereby authorized and directed to enter into any necessary contract to evidence acceptance of said bid and to make payment pursuant thereto.

Section 2. For the Street Program portion of the Bid, the City Manager is hereby authorized to expend up to a total amount of \$800,000.00 in accordance with unit prices quoted in the bid submitted by the Shelly Company in order to allow for additional work and contingency items deemed necessary during the reconstruction project.

Section 3. That this Resolution shall become effective immediately upon passage.

PASSED this 15th day of April , 2002.

Mayor of the City of Centerville, Ohio

ATTEST:

Delra a. James, Assistant Clerk of Council, City of Centerville, Ohio

#### **CERTIFICATE**

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 19-02 passed by the Council of the City of Centerville, Ohio on the 15th day of 2002.

Debra a. James assistant Clerk of Council

Approved as to form, consistency with the Charter and Constitutional Provisions.

Department of Law Robert N. Farquhar Municipal Attorney

#### \* BIDDER'S PROPOSAL

# CONCRETE REPAIR AND ASPHALT RESURFACING ROAD IMPROVEMENT PROJECT - 2002

Subn Havi	nitted by: <u>HRLKY</u> ng read the specifications and e	xamined the drawing	s included herein:	*************	
	Concrete Repair and Asphalt Resurfacing Road Improvement Project - 2002 City of Centerville, Ohio				
for the construction of said project in Centerville, Ohio, and having also taken into account all addenda issued, the undersigned hereby propose to furnish all materials and to perform all labor, as specified and described in the said Specifications and as shown in the Plans for the said work, for the following sums:					
A.	STATEMENT BY ALL BIDDERS:				
	The receipt of the following Addenda to the Contract Document (drawings and specifications) is hereafter acknowledged.				
	Addenda No	Date	_		
	Addenda No	Date	-		
В.	B. CONSTRUCTION COST INFORMATION (breakdown required)				
	The bid shall be broken down as follows and the grand total shall be the sum of all items.				
ST	REET PROGRAM RELA	TED ITEMS			
<u>DES</u>	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT	
202	Concrete Curb Removed	8500 LF	s_3.50	5 29,150,00	
202	Concrete Driveway Removed	1500 SF	\$ 1.50	5 2,250,00	
202	Curb Ramp Removed	1360 SF	s 1.25	5 /700,00	
202	Sidewalk Removed	4400 SF	\$ 1.25	5 5500,00	
202	Catch Basin Removed	1 EA	\$ 200,00	5 200,00	

250 SY

252 Remove rigid and replace w/

flexible pavement

\$ 55.60

## BID SHEET 2 OF 5

DES	CRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
253	Pavement Repair	2200 SY	\$ 24.00	5 52,800,00
253	Undercutting	30 CY	\$ 35,00	5 1,050,00
254	Pavement Planing with millings to Contractor	56,915 SY	s <u>, 97</u>	s 55,207.55
407	Tack Coat; 0.2 GAL/SY	13,125 GAL	\$	s 131.25
448	Type 1 Asphalt Concrete, PG 64-2 Medium Traffic, 4" driveway	2 500 SF	\$ <u>4.50</u>	s 2250,00
448	Type 1, Asphalt Concrete, PG 64-22, Surface, Medium Traffic,	2385 CY 1"	\$ lole. 40	s 158,364.50
448	Type 1, Asphalt Concrete, PG 64-22, Intermediate, Medium Tr	954 CY affic, ¾"	s Lab. 40	s <u>63,345</u> 60
452	Concrete Driveway, 6" thick	1500 SF	\$ 5.50	s <u>B250.00</u>
603	12" Pipe Rebuilt	32 LF	\$ 45.00	s /440.00
603	12" Pipe Replaced (Lateral)	64 LF	\$ 65,00	5_4/60,00
603	12" Pipe Replaced (Culvert)	108 LF	\$ 63,00	5 6804.00
603	15" Pipe Replaced (Culvert)	112 LF	\$ 67.00	5 7504,00
603	19" x 30" Elliptical, Replaced	112 LF	\$ 106.50	s 11,928.00
604	Major Catch Basin Repair	22 EA	\$ 850,00	\$ 18,700,00
604	Major Catch Basin Repair - Doubl	e 2 EA	\$ 1300,00	\$ 2600,00
604	Major CB Repair with 1 pipe secti	on 2 EA	\$ 1300,00	\$ 2600.00
604	Minor Catch Basin Repair	40 EA	\$ 475.00	\$ 19,000.00
604	Minor Catch Basin Repair - Doub	le 2 EA	\$ 600,00	\$ 1200.00
604	Minor CB Repair w/ 1 pipe section	n 2 EA	\$ 650,00	\$ 1300,00

DESCRIP	TION	· QI	JANTITY	UNIT AMOUNT	AMOUNT
604 Cate	h Basin, Reconstr	uct	9 EA	\$ 1200.00	S 10,800.50
	h Basin, Replacer Type A with OI		2 EA	\$_2100.00	5 4200.00
604 Catc	h Basin, Install 2	x 3	2 EA	\$ 1700.00	5 3400.00
604 Min	or Repair of Man	holes	2 EA	\$ 200.00	5_400.00
604 Man	nholes Adjusted to	grade	54 EA	\$ 240,00	s 12,960,00
604 Wat	er Valves Adjuste	ed to grade	20 EA	\$ /00,00	5 3,000,00
605 4" U	Jnderdrain under	grass	500 LF	\$ 11.00	S 5500,00
605 4" U	Jnderdrain under	driveways	50 LF	\$ 14.00	5 700.00
605 6" L	Jnderdrain under	grass	50 LF	\$ 12.00	5_600.00
608 4" S	Sidewalk - concret	re	4400 SF	\$ 4.50	5 19,800,00
608 6" 0	Curb Ramps - con	crete	1360 SF	\$ 5.50	5 7480.00
	ncrete Curb and G	utter -	8500 LF	\$ 19.00	s 161,500,00
614 Mai	intaining Traffic	LU	MP SUM	\$ 6,000.00	5 6,000,00
Spec Cra	nck Seal	3	2,800 LBS	\$ <u>.86</u>	5 28,208.00
A	grading of side d t locations of culveplacements		250 LF	\$ 10,00	s 2500, €

**GRAND TOTAL** 

737, 982.40

ALTERNATE BID ITEMS: (These items will be used on an as needed basis only or must be substituted with like items above.)

253A Pavement Repair - Special 30 SY

Type A - typically Montgomery County water main cuts

\$ 90.00 100 SY 253A Pavement Repair - Special Type B - typically Montgomery County water main cuts

DESCRIPTION O	UANTITY	UNIT AMOUNT	AMOUNT
254 Pavement Planing w/ millings to City	56,915 SY	\$_ <i>1.35</i>	S_7/e, 835, 25
448 Type 1, Recycled Asphalt Concrete, PG64-22, Surface, Medium Traffic, 1"	2385 CY	\$_65,00	S_155,025,00
448 Type 1, Recycled Asphalt Concrete, PG64-22, Intermediate, Medium Traffic, 3/4"	954 CY	\$ 65.00	S 62,010.00
603 28" x 20" Pipe Arch (CONTECH, Alum. Steel Type 2, H20 & H25, Or approved equal)	112 LF	\$ 10/.00	s <u>11,312.</u> 00
604 Catch Basin, Install 2 x 4	1 EA	\$ 1960.00	5 1960.00

# OPTIONAL ADDITIONAL WORK FOR SUGARCREEK TOWNSHIP IN THE WALNUT HILLS AREA

PLEASE NOTE THAT SUGARCREEK TOWNSHIP WILL ENTER INTO A SEPARATE CONTRACT WITH THE SUCCESSFUL CONTRACTOR SHOULD THEY CHOOSE TO EXERCISE THIS OPTION. THEY RESERVE THE RIGHT TO HAVE ALL OR ONLY A PORTION OF THE WORK PERFORMED.

DESCRIPTION	QUANTITY	UNIT AMOUNT	AMOUNT
254 Pavement Planing with millings to the Township	1110 SY	s <u>. 97</u>	s_1096,70
254 Pavement Planing with millings to the Township	4756 LF	s <u>,25</u>	S_1189.00
407 Tack Coat; 0.2 GAL/SY	2380 GAL	s	s_23.80
448 Type 1, Asphalt Concrete, P 64-22, Surface, Medium T		s 64.80	s 32,076.20
604 Manholes Adjusted to grade	22 EA	\$ 240,00	S_5280,00
604 Water Valves Adjusted to gr	ade 17 EA	\$ 100.00	5 1700.00
Total for Sugarcreek Tov	wnship Work	<u>\$</u>	41,345.50

### C. COMPLETION DATE INFORMATION

253A wh	rice reflected above represents a completion date of August 23, 2002 except for Items ich require a June 28, 2002 completion date. If an alternate completion date is, it shall be specified hereafter.
ALTERN	IATE COMPLETION DATE:
D. CONTR	ACT PREPARATION INFORMATION
	er shall supplement proposal by supplying the following information for use in the on of the Contract.
NAME OF COM	PANY/CORPORATION: SHELLY COMPANY
NAME OF PRE	SIDENT: MARK SHRULY
ADDRESS:	600 SHEPHERD AVE
CITY, STATE, 2	CIP CINCIDNAL, OHIO 45215
	I.D.#: 31-1279704
TELEPHONE #	: 513-554-0400
FAX # :	7/3-554-0/60
	EXECUTION OF PROPOSAL
	o sign proposal shall result in rejection of bid.  AL SUBMITTED BY:  NAME OF CONTRACTOR)
BY:	(SIGNATURE OF CONTRACTOR OR AUTHORIZED REPRESENTATIVE)
DATE: HO	eil 10, 2002
. ,	for Contract processing: Bab Mount
	if different from above: